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Gentle Reminder

• Please fill out the class survey!



Today's Topics

• 538 Presentations contd.
• Homework 14 Review



Homework 14 Review

• g26.prolog:
1. dt(dt(a)) --> [a].
2. dt(dt(the)) --> [the].
3. vbd(vbd(see+ed)) --> [saw].
4. nn(nn(Noun)) --> [Noun] 

,{member(Noun,[man,boy,telescope])}.
5. in(in(with)) --> [with].
6. np(np(DT,NN)) --> dt(DT), nn(NN).
7. pp(pp(IN,NP)) --> in(IN), np(NP).
8. vp(vp(VBD,NP,PP)) --> vbd(VBD), 

np(NP), pp(PP).
9. s(s(NP,VP)) --> np(NP), vp(VP).

• Important to know:
• Prepositional Phrase (PP) is an adjunct
• Adjuncts are optional
• the boy saw the man (with a telescope)
• rule #8 has counterpart without PP:
• vp(vp(VBD,NP)) --> vbd(VBD), np(NP).

• Example:
swipl
?- [hw14].
true.
?- s(Parse,[the,boy,saw,the,man],[]).
Parse = s(np(dt(the), nn(boy)), vp(vbd(see+ed), 
np(dt(the), nn(man)))) ;
false.



Homework 14 Review

• hw14.prolog:
1. dt(dt(a)) --> [a].
2. dt(dt(the)) --> [the].
3. vbd(vbd(see+ed)) --> [saw].
4. nn(nn(Noun)) --> [Noun] 

,{member(Noun,[man,boy,telescope])}.
5. in(in(with)) --> [with].
6. np(np(DT,NN)) --> dt(DT), nn(NN).
7. np(np(DT,NN,PP)) --> dt(DT), nn(NN), pp(PP).
8. pp(pp(IN,NP)) --> in(IN), np(NP).
9. vp(vp(VBD,NP)) --> vbd(VBD), np(NP).
10. vp(vp(VBD,NP,PP)) --> vbd(VBD), np(NP), pp(PP).
11. s(s(NP,VP)) --> np(NP), vp(VP).

• Important to know:
• rule #6 has counterpart with a PP, rule 

#7:
• np(np(DT,NN,PP)) --> dt(DT), 
nn(NN), pp(PP).



Homework 14 Review

• Example:
• ?-
s(Parse,[the,boy,saw,the,man,with,a,telescope],[])
.
• Parse = s(np(dt(the), nn(boy)), vp(vbd(see+ed), 
np(dt(the), nn(man), pp(in(with), np(dt(a), 
nn(telescope)))))) ;
• Parse = s(np(dt(the), nn(boy)), vp(vbd(see+ed), 
np(dt(the), nn(man)), pp(in(with), np(dt(a), 
nn(telescope))))) ;
• false.



Homework 14 Review

s(np(dt(the), nn(boy)), 
vp(vbd(see+ed), np(dt(the), 
nn(man), pp(in(with), np(dt(a), 
nn(telescope))))))

s(np(dt(the), nn(boy)), 
vp(vbd(see+ed), np(dt(the), 
nn(man)), pp(in(with), np(dt(a), 
nn(telescope)))))



Homework 14 Review

• Is ChatGPT right 
about this?
• No. 
• with (instrument) 

modifies VP
• with (possession)
• modifies NP



Homework 14 Review

Not possible!
tree structure
would have 
crossing



Homework 14 Review

with (instrument) modifies VP
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